TR Y LY Sl

A% AkaRtih #8 3t ¥ 8 &%

APRB M "0, FMH "x
BN
o

1. (20%) Assume that you are in charge of the central monetary authority *
on a mythical country. You are given the fol lowing historical data on the _ ﬁ
quantity of money and national income (both on millions of dollars): &

.

Year  Quantity of National " Year Quantity of National ﬁ
money income money income é."

1989 18 4 ¢ 1993 12 3 E?’

1990 13 3 1994 18 3 i

1991 15 - 3 1995 6 2

1992 8 3 1996 10 3

(1) Estimate the regression of national income J on the quantity of money

X » |

(2) How do you interpret the intercept and slope of the regression line?

f 2. (15%) Consider a random sample of 10 observations from a Poisson
distribution: 5.0, 1. 1,0, 3. 2. 3. 4. and 1. The density for each
observation'is /(.\"-.H)=(e°‘9‘")/(.\',-! ).  What would be the maximum
likelihood estimate of 67

‘3. (I0%)HMAFMBE@HMY FHTMRH (The Simple Coefficient of .
Determination) &/ 0 8 | 27

4. (25%) b Fik&SMA (Structural Form) % % X (Reduced Form)i
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(1) h 4o 754 Chow Test & L&Y &5 # k&R (Structural

Change) ?

() Btk p=| ‘teigisit it Ry @R R E p=19 B2 Trend

£ Random Walk -

(3) th ) Permanent Shock & 369k # 4k $ 85+ £ 4k 3 & £ Structural Change

# % Random Valk




